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Run 5044 quartetwise, Asyms0 (Raw): All
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Run 5044 quartetwise, Asyms0 (Raw): Beam ON, Laser ON

guamstwisa baami las! asymi

m _ Erlries BRA5
B Mean 4128
[ Sid Dev  3.674e+04
[N N T T T T T T T T N N T T N N T e | T O O A O O ' ﬂa
—2500 —2000 1500 —1000 —R00 O 00 1000

gHelNSamples0})/|PosHelAccl/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 6.859893)

35000

30000

25000

20000

15000

10000

5000

0

Run 5044 quartetwise, Asyms0 (Raw): Beam OFF
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Run 5044 quartetwise, Diffs0: All Run 5044 quartetwise, Diffs0: Beam OFF
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Run 5044 quartetwise, NegHelAccO/NSamplesQ: All Run 5044 quartetwise, NegHelAccO/NSamples0: Beam OFF
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Run 5044 quartetwise, PosHelAccO/NSamplesC: All
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Run 5044 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 5044 quartetwise, Sums0: All
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Run 5044 quartetwise, Sums0: Beam ON, Laser ON
guanshwiza boami las! sumimi
B Entries 6595
- Mean E.86
— Std Dev 0.2045
o AN AN TN N N AN T TN N A T TN N T TN T N B J . |
6.2 6.4 6.6 6.8 7 7.2 7.4 76

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSamplesO

1400

1200

1000

800

600

400

200

180

160

140

120

100

B0

60

40

20

Run 5044 quartetwise, Sums0: Beam OFF
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